	                   х
	                   10       
	                100 
	                   1 000

	7,84
	
	
	

	0,19
	
	
	

	4,5
	
	
	


1.Заполните таблицы.

А)

Б)
	                   х
	                   
	                100 
	                   

	5,6
	560
	
	

	
	
	83,4
	

	0,89
	
	
	890



2.Вставьте в окошко числа, чтобы получились верные равенства! 
А) 708,3 :           =   =7,083                                      Г) 2811,01 :                   =2,81101
Б)5634,95:[image: ]=5,63495                                 Д)589,3:                       =0,05893
[bookmark: _GoBack]В)   970:                     = 9,7                                       Е)642,8:                       =0,06428
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